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31/2/1

The question paper comprises two sections, A and B. You are to attempt both
the sections.

All questions are compulsory.

There is no choice in any of the questions.

All questions of Section A and all questions of Section B are to be attempted
separately.

Question numbers 1 to 3 in Section A are one-mark questions. These are to be
answered in one word or in one sentence.

Question numbers 4 to 6 in Section A are two-marks questions. These are to be
answered in about 30 words each.

Question numbers 7 to 18 in Section A are three-marks questions. These are to
be answered in about 50 words each.

Question numbers 19 to 24 in Section A are five-marks questions. These are to
be answered in about 70 words each.

Question numbers 25 to 33 in Section B are multiple choice questions based on
practical skills. Each question is a one-mark question. You are to select one
most appropriate response out of the four provided to you.

Question numbers 34 to 36 in Section B are two-marks questions based on
practical skills. These are to be answered in brief.
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"I A
SECTION A

1. 39 99 Uit o Ugd 4 gedl o U-gH fafau e yemicres @
~COOH?? | 1

Write the molecular formula of the first two members of the homologous
series having functional group — COOH.

2. WHGl § SHHI: I IR U 39 A aTel M hl 99 faRaT | 1
Name the organs producing sperms and ova respectively in humans.
3. WMa ffia feeel g1 wiftast & am fafau | 1

Name any two man-made ecosystems.

4. T=fafea sm@ #i o I-geah | Gl wafda fhur 1 99 geise |
Y TG W TG hIU (£ i) 3T Wedd HIv (£ 1) H 3Afrd Hifvw | 2

Redraw the following diagram on your answer-sheet and show the path of
the reflected ray. Also mark the angle of incidence (£ i) and the angle of
reflection (£ r) on the diagram.

5.  TicAlefi| skl AfA= o ITANT ok HRUT YT T USd T o9 BT-ehReh THTE
1 Iooi@ hIT | 37 At 1 IS g9TEt foehew sy | 2

Mention three harmful effects of using polythene bags on the
environment. Suggest an effective alternative to these bags.

31/2/1 3 P.T.O.



10.

31/2/1

“Sargel SuHl 1 STATT A3 HHU 1 Teh HRUT 2 |7 39 HAF o 9 H HI
3T |

“Burning fossil fuels is a cause of global warming.” Give reason in
support of this statement.

3T T AR w1 AW igu Seert 39T Tewnlgial i 3l H ®9aid
A T foran Srar B 1 (1) fotema qfiequr, IR (i) Aifead BRI HEiHe & @Y
AMYTRAT o ATYR T T 3 TAHTSH 3T & s faded Hif |

Name two oxidising agents that are used for the conversion of alcohols to
acids. Distinguish between ethanol and ethanoic acid on the basis of
(1) litmus test, and (ii) reaction with sodium hydrogen carbonate.

T <4 g AT i foh &1 Fi 7 fob e 9 a1 C4+ g &1 Fha @
IR T & C4~ RO 1 Tohell 7, Trg I8 TSt Afieh sH1aT 8 S forgga <
FaTAS Bid 7 IR foFept f e 3R et srareTes giam ® |

Explain, giving reason, why carbon neither forms C** cations nor

Cc4- anions, but forms covalent compounds which are bad conductors of
electricity and have low melting point and low boiling point.

forelt omad Groft § awail & affeRtor & foiw W] gerge S o § T
AT Wi ATh ITYE WA F1 HAT AT 8 ? 3NY(eh 3mad aroft | (1) foreft
AEd H A% IR § QR AN AW W, AN (i) Tret T8 # SN & A= IH |
Al ot uifeash @0 fohe TehR aREfdd BT 2 2 319 ITRI Y HRoT A gfse
HIT |

Why is atomic number considered to be a more appropriate parameter
than atomic mass for the classification of elements in a periodic table ?
How does the metallic character of elements vary as we move (i) from left
to right in a period, and (ii) top to bottom in a group in the modern
periodic table ? Give reasons to justify your answers.

fopelt arear <A1 oY) HEE 20 R |

(a) 39 a<d o Soi(eh fo=ame forgent s9eh! Tastehar faifa Hifse |
(b) I I AT T B AT YT ?

(c) 39 I o FeINI3S o ¥F foAfEm |

(d) o ¥8 a Mg (WHI] GEan 12) i qan 0 aifees srffsramshiar ®
JTET A AGRATI ? I I h1 HRYT Aigd gee HiT |
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11.

12.

13.

14.

15.

31/2/1

The atomic number of an element is 20.

(a)  Write its electronic configuration and determine its valency.
(b)  Isit a metal or a non-metal ?

(c) Write the formula of its chloride.

(d)  Is it more reactive or less reactive than Mg (atomic number 12) ?
Give reason for your answer.

Sat | fafiear forg R Saae gt & 2 “Tafyear wfisfis i Soeiifaar sAm
@ T 3wf 7 |7 59 e i gfsd fopelt Igreter it e & Shifv |

How do variations arise in organisms ? “Variation is useful for the
survival of species.” Justify this statement with the help of an example.

JTECHET 1 & ? Tohell Teh Siia oh1 3ETEXU SISIT STt 59 Jfsham ohl Gl & 3R
U Sfid ST 38 UfshaT bt TET ST B | 91g Tl Sl § Y%’ 1 el grar ?
What is regeneration ? Give one example of an organism that shows this

process and one organism that does not. Why does regeneration not occur
in the latter ?

Ty w7 ? Tl @ ot % 9w fafen | 1 Tle w1 swm e
IRER & @ 3R §gfg ol Ty §9 ¥ fhd TR wwifaa s & 2 fhel
A farmgatl w1 Ieci@ i |

What is contraception ? Name any two methods. How does the use of
these methods have a direct effect on the health and prosperity of a
family ? State any three points.

37 TTALIN ohT Teh 3TEW0T ST rept 3w I8 [Fuifa s § foman s @1
g b S faeera & ugi 0 g wisits foha fehe 2 |

Give an example of the characteristics being used to determine how close
two species are in evolutionary terms.

foreht 13 TfEfe & 3gua o TgEeh fohegl o9 el hl FT TAEY 3TN T
&1 yftrert 1 39 fowa # 3g@ HIT |

List any three factors and mention how they could lead to the rise of a
new species.

5 P.T.O.



16.

17.

18.

31/2/1

forelt <\ grT =4 wfafers &1 omada -1 7 | 3 wfafera it <\ & JeRiives
¥z 820 25 cm B, A1 e e 0@ 2 2 78 o ) TR S BE 0 T
Hif | Afg foma 1 < & THIREh ohrg I AR 15 cm TAFFANG HL e
ST, o Tfcfos gl S 2 79 I <6l gfee fortur omi@ wient ShifvT |

The magnification of an image formed by a lens is —1. If the distance of
the image from the optical centre of the lens is 25 cm, where is the object
placed ? Find the nature and focal length of the lens. If the object is
displaced 15 cm towards the optical centre of the lens, where would the
image be formed ? Draw a ray diagram to justify your answer.

M@ H HEgRd & Tse FHIf foF arqreea saadq foha R 1fim e
3R focfera F@rea sl aitae o T ITEeR @ | 39 9iee o SRoT geell ™
fea i srafy & ferar o=t g1 S & 2

With the help of a diagram, explain how atmospheric refraction is

responsible for the advance sunrise and delayed sunset. How much time
difference does it cause on the duration of day on the Earth ?

JTYeh! HIATS i Ted & o8 a9 off o6 wati o W@ (@) aft & fow s/
eI B 8 | U fed 38 aueEn-u | g Ul fob 99§ 3uctey 9
VST & Bl & W H $S T e TSHATA U MW | 3§ AR I8 SATHA &
TS, Tk TgehTeht BN Tareey o fou gfvemt 81d 2 |

(a) 39 IO AT <l BT WeHARRET g1 well o @1l Hgfva w1
fore JepR TmEITE ?

(b)  TE HE! AT 2 Toh I8 B fgshamell gAR SF¥ar 3= Sfdi & IR °
AW ik HiEd Bd A & 3 T A A Aferes 8 W gHR S
Al Tk MM U5a1d 8 | 38 UREedT H AW 3R 3Eh fow #§
fofEu |

Your mother always thought that fruit juices are very healthy for
everyone. One day she read in the newspaper that some brands of fruit
juices in the market have been found to contain certain level of pesticides
in them. She got worried as pesticides are injurious to our health.

(a) How would you explain to your mother about fruit juices getting
contaminated with pesticides ?

(b) It is said that when these harmful pesticides enter our body as well
as in the bodies of other organisms they get accumulated and
beyond a limit cause harm and damage to our organs. Name the
phenomenon and write about it.
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19.

20.

21.

22,

31/2/1

TE 1 BId 8 ? TGl ! fhE TR SFRIT SIIAT 8 ? B drert SAfufshan o
e T fiflau | = grar 8 9 IS TE HifeIH BISSIadTss o a1y
AR T 8 2 39 ITTTshaT 1 TR IR, 9 TR 39T fafgu |
What are esters ? How are esters prepared ? Write the chemical equation
for the reaction involved. What happens when an ester reacts with
sodium hydroxide ? Write the chemical equation for the reaction and also
state the name and use of this reaction.

Tehferft ST Iwaferft qodi o1 Ueh-ush 3wl i | godi # B ol T <k
q YhRI o st fave HIfSre | 1 grar 8 ST hig wWrTewvT Tt 3wk afdem
T UEd AT 8 ? AUSRA H ofiS fHfor 76 B Al "eAre o o’ H ey |
Give one example each of unisexual and bisexual flowers. Differentiate
between the two types of pollination that occur in flowers. What happens
when a pollen lands on a suitable stigma ? Write about the events that
occur till the seed formation in the ovary.

Siaed @1 Bld 8 ? Siard g YR sHd 8 3R Rl 31y 1 Fufor fea
ghR TR ST 8 2 A9 fIentd & 31533 § S9T9Hl & qg i ool HifY |

What are fossils ? How are fossils formed and how is their age
determined ? State the importance of fossils in the study of evolution.

IqA AE ok TR H TG (w) o 1Y ARGl (v) W Toreror i guiie arett
ffciad Serr drfetrert T foretyor I 3R aiehed fopy fomm &t fefaiaa
Qﬁ%ﬁ'{?ﬂﬁm:

i fragd a0
qen u (cm) v (cm)
1 - 60 + 12
2 - 30 + 15
3 - 20 + 20
4 - 15 + 30
5 - 12 + 60
6 -9 +90

(a) I 8 i BIE g Tehal @ 2 319 I o foIg wror i |
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23.

31/2/1

(b)

(c)

g fora-gll (w) I Sife [Eeht deredt sfafemagh (v) &8t 721 8 | 98
Frerd ae o geRR femTe 2

s W IUFH T TR &I T&AT 4 o Tofw foptor o ifew 37K
AT T THT HE J1d I |

Analyse the following observation table showing variation of
image-distance (v) with object-distance (u) in case of a convex lens and
answer the questions that follow without doing any calculations :

(a)

(b)

(c)

(a)

(b)

3. No. Object-Distance | Image-Distance
u (cm) v (cm)
1 - 60 + 12
2 -30 +15
3 - 20 + 20
4 -15 + 30
5 - 12 + 60
6 -9 +90

What is the focal length of the convex lens ? State reason for your
answer.

For what object-distance (u) is the corresponding image-distance (v)
not correct ? How did you arrive at this conclusion ?

Choose an appropriate scale to draw a ray diagram for the
observation at S.No. 4 and find the approximate value of
magnification.

AT guni & gew # fmfctigd ual shi aftwm e .

(1) gd

(i)  Jshal g
GHICETIREED)
(iv) H&I &

(i) STadet gUul, 3TN (ii) I SUUT o GE&F Bk i g & foru fereor
Mm@ difem |



(c) Tr=fafea sm@ 4, MM i3 79dd 40T & 997 AB s fore 8 | 39
fora &1 yfdfors s91 goia & fofe ot S-gfeas w fomor sm@
it | 5

W

=Rl N SR

(a)  Define the following terms in the context of spherical mirrors :
) Pole
(ii)  Centre of curvature
(iii) Radius of curvature

(iv)  Principal axis

(b) Draw ray diagrams to show the principal focus of (i) a concave
mirror, and (ii) a convex mirror.

(c) In the following diagram, MM is a concave mirror and AB is an
object. Draw on your answer-sheet a ray diagram to show the
formation of image of this object.

}
;

24. (a) HFED 93 % FHEIRET I% 9 1w fARgu

W >

(i) i

(i)  9faTieR

(i) Topeeetia (rfima) <@
(v) gt gfsmt

(v) e

31/2/1 9 P.T.O.
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31/2/1

(b) I3 ARE 1 m ¥ A g W feua fawai o1 wawe 781 <@ uran | 98 fohm
gfee g @ difsd & 2 39 gf QW &1 RO 3R IUYH FG gHT ST
NG S o Tog fertor i@ wifem |

(a)  Write the functions of each of the following parts of the human eye :
) Cornea
(i)  Iris
(ii1)) Crystalline (Eye) lens
(iv)  Ciliary muscles

(v) Retina

(b) A person is unable to see distinctly the objects closer than 1 m.
Name the defect of vision he is suffering from. Draw ray diagrams
to illustrate the cause of the defect and its correction by suitable
lens.

g
SECTION B

frefefaa ammft o Tl § 9 fhgeht TN A s | R ST deha & 2
(A) T w1 9 3N Hfcoem gEgieEEe

(B) TUE 1 dd IR TWISIH gegiadss

(C) W dd IR difsav gRgiauss

(D) W &1 q9 IR AW FEgieETEs

Which one of the following sets of materials can be used to prepare soap ?
(A) Neem oil and calcium hydroxide

(B)  Castor oil and sodium hydroxide

(C)  Mineral oil and sodium hydroxide

(D) Neem oil and magnesium hydroxide

10



26.

27.

31/2/1

3! SRANTIITAT H R T s & [o1C el 71 7 | Fr=fifea a@vn o g
H 9 39 ggg I g, o fret ft 1 @au @l o9 oTga ST H Hietet
3N ST YT L Fehd 7 | 1

(A) NaCl; NaySOy4; KC1

(B) NaCl; CaCly; KCI

(C) CaCly; CaS0O4; MgSO4

(D) NaySO4; CaSOy; MgSOyu

You are asked to prepare hard water in your laboratory. Select a group

from the following groups of salts, any salt of which you may dissolve in
distilled water to obtain hard water.

(A) NaCl; NagSO,; KCl

(B) NaCl; CaCly; KCI

(C) CaCly; CaSOy4 MgSOy
(D) NaySO4 CaSOyu MgSOyu

Ife 319 fopelt et § $© g I ookl ITH THH HE H UHieH 3t
firamd st T 38 foyw o wefl-vifa fead ot o8 oma & fow 38w
Tvg W fom1 feamu-gar @@ €, af e 5 fie 99=rq 319 a1 Jefur hidl ? 1
(A) THifCH T I WA W AA hl T |

(B) hIS 31A&Y WESA hI Tefl S @2 |

(C) W@ § TEH A9 o ol vt @ 2 |

(D) WETA § =3, TIEF el faeas a9 T 2 |

If you take some distilled water in a test-tube, add an equal amount of
acetic acid to it, shake the test-tube well and leave it undisturbed on the
test-tube stand, then after about 5 minutes, what would you observe ?

(A)  There is a layer of water over the layer of acetic acid.
(B) A precipitate is settling at the bottom of the test-tube.
(C)  Bubbles of colourless gas are coming out of the test-tube.

(D) There is a clear, colourless transparent solution in the test-tube.

11 P.T.O.
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29.

31/2/1

fiee T gper ol Tfsha o g FefaRad el § @ 98t we/EHoA1 1 g

I. Sk hHIRTERT a1 AT ARk Fafd IR # fawrfaa gidt 8 3 I8l
Sk <Rl 31{Eecd THTT &1 14T & |

II. 399 Sffopd Shrgeh o1 A1 ATk Fafd shrgehl | fawTiord gram 2 |
III. S 1 o fohell foRIv & # IS IHpal Wl 7 |
IV. S % 8 3T 8H & 999Tq Gohel qU1 fehfid gkt 71 Taa Sia 4

ST ® |
(A)  Had I (B)  <had III
(C)  <had II 3T III (D)  ohad III 3R IV

Choose the correct statement(s) on budding in yeast from the following :

L A parent cell divides into two or more daughter cells and here the
parent identity is lost.

I1. In this the elongated nucleus divides to form two or more daughter
nuclei.

III. A bud arises from a particular region on a parent body.

IV.  After detaching from the parent body the bud grows into a new
independent individual.

(A) Tonly (B) III only
(C) 1II and III only (D) IIT and IV only

freafaifga # & "9eTd 3T &1 9g= gHu

(A) THEE % Wg 3R fadell & T

(B) e o U@ AN IHCE & 9@

©) Faaeht ¥ v iR F F T

(D) =< o 3UUTE, T & WIS N Bushell & UG
Select a set of homologous organs from the following :
(A)  Wings of a bat and wings of a butterfly

(B)  Wings of a pigeon and wings of a bat

(C)  Wings of a butterfly and wings of a pigeon

(D)  Forelimbs of a duck, forelimbs of a cow and forelimbs of a lizard

12



30. forelt = &l H13 YIS Ihh & 78 2 Srah! wiew gl a7 gd % ufdfers
i & fEn § 39 g ¥ 24 om g W oA 96 W BihRd ek TG T
2 138 gt o IR § TEl e gHu | 1

(A) 12 cm %Y G I IAA G4
(B) 24cmm§°fqﬂ3ﬁﬁﬁ'€
(C) 24cmqﬁw@wwaq‘m
(D) 12 cm BI%H G 1 ITA T8

An optical device has been given to a student and he determines its focal
length by focusing the image of the sun on a screen placed 24 cm from
the device on the same side as the sun. Select the correct statement about
the device.

(A)  Convex mirror of focal length 12 cm
(B)  Convex lens of focal length 24 ¢cm
(C)  Concave mirror of focal length 24 cm

(D)  Convex lens of focal length 12 cm

31. Wid % TId ¥ oA dTelt Jehrer fohtor o1 vy smflea A & fore ffafea o

T garay YR Saedn g 1
I i 11 v

A I

B) II

(C) II

(D) 1V

31/2/1 13 P.T.O.



Select from the following the best experimental set-up for tracing the

path of a ray of light through a glass slab :

v

I II 111 Y
A 1
B) I
(C) 1III
(D) 1V

32. TfIRad 3@ § HH-HH & HI0T T Hfehd oy T 2 2

A) | (B) “had /i3 LA
(C) /i, /r3IN LA D) /i, /A3 /D

In the following diagram, the correctly marked angles are

(A) Al (B) OnlyZiand Z A
(C) Zi,ZLrand LA D) ZLi,ZAand £ZD
31/2/1 14



33. 9 omu fRdl IO o g UH Ry e, e emafa fe & T R, &
JdfeRa I UG T HIhd hid &, dl 9¢ X Fdfers i 3TTehld hel fe@rs <t

27 1
AN
\1% \14
(A) (B)
©) (D)
/AN AN

When you focus the image of a distant flag, whose shape is given below,
on a screen using a convex lens, the shape of the image as it appears on

the screen is

(A) (B)

(0 (D)

31/2/1 15 P.T.O.



34.

35.

36.

31/2/1

(A)

(B)

(A)

(B)

Ifg smad WEifes o1 & fmfefaa € quredt & Seron it fard forea
& foTu gt SITU, o ST @ fore 2

i ™

(i) Tofom| ® g9

Il 3T T W@t H Teh Feeh! QST BRI Hra-e IISS AR
3G Hg-g hich UHIeH A STei, dl MU qd & AT Y&qur hidy ?
fordl 31 e Jeaont <t gt TSy |

If you are asked to report your observations about the following
two properties of acetic acid, what would you report ?

(1) Odour
(11))  Effect on litmus

If you take a pinch of sodium hydrogen carbonate powder in a
test-tube and add drop-by-drop acetic acid to it, what would you
observe immediately ? List any two main observations.

el “TH & ISk YU & fafiE wmn H ggEE w1 WA HET 7
ek g 3TYATS S aTedl fshaT sl 9uH shifvT |

You have to perform the experiment, “T'o identify the different parts of an

embryo of a gram seed.” Describe the procedure that you would follow.

I & JIAHR AT T 45° o HIV T AYdd JhT1e Fm 1 99 fRaq
FRTT | e i, frfa Hor o wie @ oA |/ e § 89 e aiidas
e 1 9 fafEe |

Trace the path of a ray of light incident at an angle of 45° on a

rectangular glass slab. Write the measure of the angle of refraction, the

angle of emergence and the lateral displacement suffered by the ray as it

passes through the slab.

16



MARKING SCHEME
CLASS X — FOREIGN

Code No. 31/2/1

Expected Answer/ Value point Marks | Total
SECTION-A
Q1. HCOOH; CH3;COOH Yo+ Y 1
Q2. Testis and Ovary Yo+ Y 1
Q3. Crop fields/ Gardens/ Aquarium/ Parks/ (any other two) Yo+ Y5 1
Q4. %
> C i ‘
— N
=
. s
1
Marking angle i andangler | %2 +% 2
Q5. Increase soil temperature/ adverse effect on agricultural products/ land and
animals die after consumption/ clog drains, may cause flood like situation/
any other (three only) Yax3
Alternative- Jute bags/ Paper bags/ Cloth bags/ Biodegradable bags
(‘any one) Ya 2
Q6. e Burning of fossil fuel producesCO-, oxides of Sulphur and nitrogen 1
e CO; is a greenhouse gas, its excess CO, produces greenhouse effect,
increasing earth’s temperature/ causes global warming. 1 2
Q7. | e (i) Alkaline KMnO, (i) Acidified K,Cr.Oy 1
e Ethanol does not affect litmus paper whereas Ethanoic acid turns
i) Blue litmus red 1
i) Ethanol does not react with NaHCOs; whereas Ethanoic acid gives
brisk effervesence with the evolution of colourless gas/CO, 1 3
Q8. Carbon cannot lose 4 e~ to form C* cations, as very high energy is required to Y
remove 4 e
Carbon cannot gain 4 e to form C*anions as nucleus with 6 protons cannot Yo
hold 10 electrons.
Carbon can share 4e” to form covalent compounds. Y
Carbon compounds do not conduct electricity being non polar and do not form
ions/ charged particles. 1
Due to weak intermolecular forces of attraction, carbon compounds have low
melting points and boiling points. Ya 3
Foreign —31/2/1 Page 2




Q9. e Atomic number is more important parameter than atomic mass as atomic 1
number determines the number of valence electrons which decide the
chemical properties of an atom of an element.
o Metallic character decreases from left to right in a period, because the | 1 + %
tendency to lose electrons decreases due to increased attraction between
nucleus and valence electrons.
e Metallic character increases down the group, as the tendency to lose | % + %
electrons increases, due to decreased attraction between nucleus and
valence electrons because outermost electrons are farther away. 3
Q10 | (a) Xe0-2,8,8,2 Yo+ Y%
Valence electrons-2
Hence valency is 2
(b) Itis ametal )
(c) XCl, Y
(d) It is more reactive than Mg as reactivity increases down the group Y
Mg- 111 Period
And Xy ( Ca)- IV Period Ya 3
Q11 e Variations may arise due to small inaccuracies in DNA copying during
reproduction; as a result of sexual reproduction where genetic
materials from two different organisms combine to form a new | 2x1
organism.
e During adverse conditions some variations may give survival
advantage to the organism
e.g. a population of bacteria living in temperate waters. If the
temperature of water increases suddenly then most of the bacteria
would die but few variant bacteria resistant to heat would survive and
grow further. 1
(‘or any other example) 3
Q12 | e Regeneration- Ability of organisms to give rise to new individual 1
organisms from their body parts.
e Planaria/ Hydra; Y
Amoeba/ Rhizopus/ Banana/ Sugarcane/ any other Ya
e Regenertion is carried out by specialized cells which are not present in
non regenerating organisms. 1 3
Q13 | e Contraception: Any method which prevents conception/ pregnancy is Ya
called contraception.
e Barrier Method, Chemical Method, Surgical Method (any two) Y, Yo
e Health of women (mother) is maintained,
Parents can give more attention to their children/ family,
More resources may be made available for improvement of standard of | ¥2X3
living ( or any other relevant point) (any three)
3
Q14 | Study of homologous organs as forelimbs of mammals, birds, reptiles and
amphibian; show that though they perform different functions have similar
basic / internal structure; this is because they have evolved from common
ancestor and help us in determining the closeness between two species in
evolutionary terms 1+1+1 3
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Q15.

(i) Natural Selection
(if) Mutation
(iii) Genetic Drift
(iv) Geographical Isolation
(any three)
(‘brief description of any three)

3xY¥%
3XY¥

Q16.

(m = -1, means that the
Image is real, inverted and of the same size as the object)
.. Object distance =image distance= 2f = 25 cm
o f=25=125¢cm
2
e Nature of the lens is convex/ converging
e On displacing the object distance by 15 cm, towards the lens, the
object distance becomes 10 cm which is less than the focal length.
Image formed now is virtual/ same side of lens as the object

Yo
Yo

Yo
Yo

Q17

diagram + labelling

When the sun is a bit below the horizon, light rays from it are refracted by the
atmospheric air and reach our eye after bending and we can see the sun a little
before (about 2 min) the actual sunrise/ after the actual sunset.

1%

1%
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Q18. | (a) (i) During growing of fruit crops, pesticides are often used which may %
contaminate the fruit and hence the fruit juices.
(it) by using contaminated ground water for making fruit juices. A
('b) Bio magnification/ Biological magnification 1
The progressive accumulation of non biodegradable toxic substances/
chemicals at each trophic level leading to their maximum concentration at the
highest trophic level (human beings) is called biological magnification. 1 3
Q19. | ¢ Esters: Pleasant smelling organic compounds Yo
e Formed by the reaction of carboxylic acids and alcohols in the presence of 1
acid.
Equation :
CH3COOH + CszOH—)LId) CH3COOC,Hs + H,0
( Ester) 1
e Sodium ethanoate is formed. Y,
e CH3COOC;Hs + NaOH—~CH3;COONa + C;HsOH 1
e Name of Reaction : Saponification 1,
e Use : Preparation of soap 1, 5
Q20. | Unisexual Flower : Papaya/ Water-melon/ any other (any one) 1y
Bisexual Flower : Hibiscus/ Rose/ any other VA
(any one)
Self pollination: The pollen grains are transferred from the anther to the stigma
of the same flower or to the flower of the same plant 1
Cross pollination: The pollen grains are transferred from the anther to the
stigma of a flower of a different plant. 1
e After pollen lands on a suitable stigma, a pollen tube grows out of pollen
grain and travels through the style to reach the ovary i
e The male germ cell fuses with the female germ cell to form a zygote. Y%
e Zygote divides several times to form an embryo within the ovule Ya
e The ovule develops tough coat and gradually gets converted into a seed Ya 5
Q21. e Fossil : Preserved traces of living organisms are called fossils. 1
e Fossils are formed when the body parts of the dead organisms do not
decompose completely and are caught up in mud and eventually
harden to retain the impression of the body parts. 2
e Age of the fossil can be determined by:
Q) Relative method
(ii) Carbon dating method Yo+ Yo
e Importance of fossils in the study of evolution:
0] Help us in knowing about the species which are no longer
alive.
(i) Provide evidence of missing links between two groups of
organisms. (‘any one) 1 5
Q22. | a) Observation no 3, indicatesu=-20cm v=+20cm 1
It suggests that object is at 2F
Therefore f =+ 10 cm Y
b) Observation no 6, because, here:
u=-9cm
Thus object is between ‘O’ and ‘F’ Y
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Hence image distance should be negative NOT positive 1
C) 1%
A Y
}
L om A
B L B
e—— [SC0m .
2 tm
e 308
Al
e 5
Magnification is approx =— 2
Q23 | Four definitions:
a)
i) Pole — The centre of the reflecting surface of the spherical mirror.
i) Centre of curvature — The centre of the sphere of which mirror forms a
part.
iii) Radius of curvature — The radius of the sphere of which mirror forms a
part.
iv) Principal axis — An imaginary straight line passing through the pole and
the centre of curvature of the mirror
Yo x4
b) (i)
A
At
infinity \
B > .
N 1
(i)
D
J h ....-.. o
. ) - I- N
infinity 1
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A\

/C/ﬂb

1 5
Q24 |a) i) Cornea- To refract the light rays falling on the eye
ii) Iris- To control the amount of light entering the eye.
iii) Crystalline lens- To focus the incoming rays on the retina.
iv) Retina- To act as screen and send signal to the brain via optic nerve ¥ x4
b) Hypermetropia/ Long-sightedness 1
- 1
N N’
1
5
SECTION-B
25) B 26) C 27) D
28) D 29) D 300 C
31) B 32) C 33) A 1x9 9
Q34. [a] (i) Smells like vinegar
(i) Turns blue litmus red
[b] (i) brisk effervescence
(i1) evolution of colourless gas Y2 x4 02
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Q35. | i) Soak a few seeds of gram/Bengal gram/chana/kidney beans/etc and leave
them overnight.
ii) Drain the excess water.
iii) Cover the seeds with a wet cloth and leave them for a day.
iv) Cut open the seed carefully and observe the different parts.
Yax4 2
Q36. A
Diagram 1
Labelling 1 2
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